24, BitF EE 4 F -H)O0, 4 f3F &

B R AL 53 < aph > — 353 M T * (homogeneous
catalysis) » % .1 #& F 4 I 4p(phase)® X Ap o 5 s ¥ - &
#3553 M igi 17 % (heterogeneous catalysis) & 4p B & 13 fr2 @ L1k |
&k g s 1R [45] 0

LiTd A BT - B B RAFREDS 2P FEFT
FRy &2 APk R 4o ® - B2 4353 20 F B F{ob Tk
Bl o0 QR AL ahF Sl B RE T i 5 F d e

241 F Rid 3

/

R e RS R B - BN R Rt
TR F O ik B ASTPF R e R o 4 S e ek R RS O 4
M FRESFEAF BPFAASFLECEIAERR B E
% mol/l - sec o & HyO, & f2F ¥ >

H,0, 5 H,O+ 1/20,
* - B HO, &~ 3+ F %G 123 O34 2 g HO, i) 4 i

Fooh Oyt $iF s o 4Bl 220 5 F BB ER 2 2 44 A
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6, —6(t) =2n,,
latm <V (t) (2-5)

ot)y=60, —2x
® =6, RT

H g 1 F RE 3 (=0) » HyO, %~ 45 % % B #Hic(mmol)
Ot) P S tRERS 0 & % HyO,enE & B e i 6(mmol)

V() D SRS > 4 % Oyl 5 V(ml)

I

FUEF REFEF B ERET R A 6 - R ki
d F o FE T L HO, 4 f2F B9 0 F < 5%[42]#;] IB2R T LRI
- % F J&(pseudo-homogencous first-order reaction) (2-6)3" 5 #7 % 71 17

ZEEEEEREEEE RS 3T S Y TOUEL S 3 S

% sec! o
ERHzo2 7 k[Hzoz]

4oz ko (2-6)
dt

e b N (TR Ot end B AR5N o RIS M RN B B

A 4ok F A RF I B H g B2 R S8 BohiE s e
221 97 LB AU EREDEMRT > HAF L ko

%9 _kdt , =g , mP_u (2-7)

W MR RIEAR G S AT R B {2

H W RER AR LR R R A A O AR V() £ A1 (2-5)

V3 REFOM)  ed APV E R REHFI G AF BT A T HP

AR T RS A A FEN - JEFE AN kg
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v oo H kR A0F] 33
H202 RN H20+ 1/202
1
'90 5('90_‘9(0)
(I)F };@;Eﬁ . P()Vair:nairRT
Viair=V 25—V zz—VKon
y=U A ”g P ek R /AR
y'=U 3l g 7 e plend R/BA B
Q)7 ¢ F%k 5 13wt%end § 4 4973 % 30ml 4 » 2ml (0 1.15M B3
i pE Rk g T amlo ppEA RIR G L a(y )2 A 0 ho W]
202 57 0 4o e~ 2ml EEATRBRE (0 0 AR NF F W)
% fi—’» 3‘; 7‘:? ﬁ‘?ﬁﬁu‘ Vi=Vair - (2 = a)
(B)F Meis : Bpl2 24 Oy PR VE=S1®) -a> 2 7 SO)s U3

23 BEFHE 2 d VR » T oA KE

PV = (nO + nair)RT = |:l (‘90 - H(t)) + Ny }RT = l(90 - e(t))RT + I:)Ovair
: 2 2 (2-8)

(7 +7)S(t) _I
= (1472 T 220NV, 4V (1) = JART + RV

AF ¥t F toofF > V)" & »(2-8)r 7 KT g,

1+ TS0 vy = %QORT +PV

1033 (2-9)

air

(#6010 72 HyO, & f2F 5215 7

Vair=V 35—V z2—Vkon=261(ml)
P()Vair = n.irRT=1%x261=261 (atm-ml)
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_30CM . sgem/mi , 7= 0 96em /mi

21.9ml 31.25ml

% 30ml KOH+2ml H,O, P% » & & € " 2 1.7ml > pt P&

ik & £ ~dem o %% £ B2 % F WA Vi=260.7(ml)

2.33V(t) + 4
1033
2.33V(t)* + 1644V (t) + 733 = 12200A6

(1+ )(260.7 +V (1)) = %AH(0.0SZ x 288) + 261

d’—/\l’éi_ng?l l‘zt’F }%*ﬂ I""] #E] 6’#’[5_".’ %?'i_ r’ Ei_lb ]‘E"y’ 9 ]E

TR B ERYET RR DAL &F D 2N L kH W

/

A3

)

1 F g khom E7 khet 4B 2-23 » ’—’LFF 2 %i”)@;__q-t’?@ mr o H

_d_ezkgzkhom[c]+khetaN 0= hom[C]+khetA9
dt V, V;
hom [C ] + I(het (SBET cat ) 0
Vi (2-10)
k — hom [C]+ khet(SBET cat)
V/j

=

H

7~

v 3=

k =Kk, [C]+ k,W_,

J-47zr2 -dN(r)

=4 N=A =2 g
N N

a: AECRARY - BELEAS T PE G MY B)

Sper - 4 BET K182 @it & 0t & & ## (m’/g)

Wy © B B ehE £ (g)
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2.4.2 Arrhenius Z_#&
o4 BT ERTAS G HE Y F R Ffod Tk R OB
B 241 3%iET o T - BER DM GEF RS F B8R R DY
%> — 4fLz. 5 Arrhenius * 425% ! k= AR BB AR e 4
& ” (frequency factor) » H 7 5 % #c— % > Ea 2 &5 » i
¥F* Kl/mol k&7 o it vd 9% FE 4ol 2-24 5 P F ¥ ¥

"

it B g ¥HE B i) BITBIRE- 2 & Haex%3. Ea/R o
sze_AE%T

/nk = /¢n A—A—Ea
RT

(2-11)

2.4.3 # % i¥* (Compensation effect)
FI# - A7 IR AR — F BT & - f e T -
2|2 R 2 Ay 0 % 50 Arrhenius > ARV PF 0 ¥ € IR Eafr A
g o P Se 2 e PR D 0 AT 2 F 2 DRI AR g Y - 2 ag 3
Pt i i S
v RR[424p 2 0 e H00 A f#F kS 0 Afr Ba 2 [ enbl 50
F AT & f/nA=mEa+c > ZApF ak BERER(THOFF » 7o 915 F

L% T>TipF

R oig & F gzﬂr;rs 4P % > Ti(isokinetic temperature) =

FRed g BB g3 F L § T<Tim - 5 sd 5 g1
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dF fuik F Lk %A [45]

K =K_I;|-eAS%AH%T (2_12)

H ¢ K=R/N: % &3 & ¥ #ic(Boltzmann constant)
h & % 5. ¥ #(planck constant)
S'¥r H : F 4 £2 7% it 47 B8 (activated complex) ¥ i’ £ 4
A 353 4p(homogeneous series) & J& & se® o F ¥ BRI B add F i
o BRI AR A AL 0 § B SER A S iR
Fedgd pod R X FIUH] > FW R IF R o B 22355 4p (heterogeneous

series) i 4 5L o X G AFRA B IEF vdek 1t 7 AR B -

fput=

NIRRT - R s AR AR R R R
P o e ¥V - T AL g Y FRBEF LG HAT
e K Al o A B &G it Y LR
B ARRUIS I g $ ST
hod 00T A FEER N R > WA AL B TR i (T
(Dde% Ti 242 2RI ERFRY a5 Bl §d 309 Hlicdy o
¥ o BRI %

Qhe% Eh- BREDERFRPN BRlh HLET LAY © o
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ST

Voo

(

ln% /

- slope=k

0
Bl 221 - = F f 111;0 SHE B 1 [ [46]
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aml

offecccccccoch:

(@) ¥ #&

~aml

t=0,8=0 ml

Jaty+y’)em

v Vel | )
............ tzo’szo >
1 S(O(y+y”)em
}vV(t) J
(bYF s
1
SO”Cy+y)em i 0,80 ml
\J i .

(O F &% 1

B12-22U 2] % p R4 2 81
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slope=k,

K[C{

an

W 223 &7 @0 R T A 2 % i

In k

1/T

i8] 2-24 Arrhenius T B](In k ¥+ 1/T)[46]
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